PRACTICE QUESTIONS FOR EXAM 2.                              PROFESSOR LEFFLER

ECON 200A,  FALL 1998


For questions with a series of statements, you should evaluate each statement (they are not multiple choice.)

1. Lynn and Jean find themselves on a (otherwise) deserted island. 

The only two production activities available are fishing and gathering fruit.  In a full day Lynn can catch 5 fish or in a full day gather 5 pounds of fruit.  Jean can catch 4 fish or gather 2 pound of fruit in a full day.  They each can divide their time between activities with no loss of efficiency (e.g. Jean could produce 2 fish and 1 pound fruit in a full day).  Each currently produces and consumes 2 fish and as much fruit as achievable in a full day.

    a.  Explain how they can both be better off by exploiting the Law of Comparative Advantage.

    b.  After specialization do you expect both to consume more than 2 fish?  Explain in terms of the expected price for trade and diminishing marginal value.

    c.  If Pat shows up on the island with production possibilities of 2 fish per day or 4 pounds of fruit, does Lynn benefit?

2.  The law of comparative advantage implies that

    a.  the person who can produce more of a good should specialize 

in production of that good.

    b.  the costs of goods will be reduced by specialization.

3.   In one hour Kim can produce 15 apples or 1 salmon.  In one hour Chris can produce 10 apples or 1/2 salmon.

a.  For economic efficiency, Kim should specialize in apple production.

b.  As a result of specialization, the apple cost to Kim should rise.

c.  Chris will get all the gains from specialization and trade if the salmon price is 15 apples.

4.  By working one hour Joan can produce 8 ounces of berries or 2 eggs.  Tim produces 6 ounces of berries or 1 egg in one hour.

    a.  If Joan and Tim meet up, explain how they can both be better off by exploiting the Law of Comparative Advantage.

    b.  As a result of specialization, do you expect Joan's marginal value of berries to change?  Do you expect her work hours to change?

    c.  If Pat shows up on the island with production possibilities of 7 ounces of berries or 1 egg per hour, does Joan benefit?

5  Evaluate.  A basic result in economics is that societies benefit 

from increased opportunities to trade.  The opposition by the 

Washington Lumber Mill Association to the free export of logs to 

Japan must therefore result from their lack of knowledge of basic 

economic principles.

6.  The President of Mexico recently "bragged" that Mexico had become nearly self sufficient in food production due to government subsidies of agriculture.  Are the people of Mexico better off economically because of such self-sufficiency?

7.  On St Paul Island, there are only two individuals Mike and Kate.  There are only two economic goods, food and clothes.  

    a.  (True/false - explain.) Mike takes less time to produce a food than does Kate.  Kate therefore has a comparative advantage in clothes production.  

    b.  (True/false - explain.)  If Mike is producing efficiently and is completely specialized in  food production, this implies that for efficient production Kate should be completely specialized in clothes production.

    c.  Assume Mike discovers an efficient way to save costs in food production by having Kate take a couple of hours to fabricate a food machine out of some clothes.  Discuss how (and why) you might expect the resulting food production "firm" to be economically organized.

8.  The Clinton administration, facing a tough battle in Congress, says the new world trade pact, negotiated under the auspices of the General Agreement on Tariffs and Trade (GATT) will provide 1,000 new high paying jobs and save US consumers many dollars each in their clothing costs.  

   a.  The Textile Workers Union has estimated that over 800 textile workers will lose their jobs if GATT passes.  Explain why it is not surprising that the Bill faces a tough time in Congress even though the expected number of jobs gained exceeds those lost.

    b.  The Textile workers have also claimed that the saving in clothing costs will not be as great as their loss due to unemployment.  Assuming that the textile industry is a price taking industry with a horizontal supply curve, explain why their claim must not be true.  (Be sure to explain what role the supply curve assumption played in your answer.)

11.  Evaluate.  A basic result in economics is that societies benefit from increased opportunities to trade.  The opposition to NAFTA by unions must therefore result from their lack of knowledge of basic economic principles.

13.  The following table gives alternative input combinations for Johnny's  Corn production 

  Output                             Input alternatives

                                 A            
B           
C

    1            Labor      1    
        
1.5         
2

                  Seed       3            
1.5         
1

    2            Labor      2            
 2.5         
4

                  Seed       5            
 3            
2

    3            Labor      3            
4            
5

                  Seed       7            
6            
4

    4            Labor      5            
5.5         
6

                  Seed       11           
9  
          
7

The labor price is $2 , seed price $1, and corn price $5.10 (all per unit).


a.  Does Johnny have a comparative advantage in growing corn?


b.  If Johnny elects to grow corn, how much should she grow?


c.  If a corn growing license costs $2.50, do your answers to a. &  b. change?  If so how?

14.  Pat's production opportunities for ties for the day are:

  Output    Input       Alternative

                              A       B      C

     1      Time          2       2      1

             Cloth          3       2      1

             Needles      0       1      2

     2      Time          3       2      2

             Cloth          6       4      3

             Needles      0       1      2

     3      Time         5       5      4

             Cloth         8       6      4

             Needles     0       1      2

Pat can earn $1 for each unit of time working for Microsoft.  Cloth costs $1 per unit.  Needles are "capital" that must be purchased prior to production.  They cost $2 each and last for the day.  Ties sell for $4.10.

a.  What should Pat do?

b.  Pat believed ties were worth $4.10.  He made his needle decision and then learned that ties only sold for $2.50.  What should Pat then do?

15.  A production team or firm is operating at an efficient economic size if 

a.  marginal cost is minimized.

b.  if each current workers vote would prefer the current size.

c.  if resources have been employed just to the point where the cost of an extra unit of output exceeds the average cost.

16.  Managers are expected to have the following differences in preferences as compared to the owners of a company:

a.  prefer investments with a short horizon.

b.  prefer safer investments.

c.  prefer riskier investments.

d.  prefer more attractive clerical help.

17.  A survey of full time workers indicated that 65 percent responded that they would prefer to "work for themselves" yet only 3 percent in fact had their own business.  I am aware of no legal impediment preventing anyone from quitting his or her job and starting their own business.  Carefully explain why individuals choose to sell their leisure to others rather than using it to run their own business even though they say they would prefer the latter (i.e., explain the economic advantages of the "capitalist firm").

18.  Whenever a manager is hired to monitor team production, there is always the danger that the manager will shirk.  Is likelihood is reduced by:

a.  the treat of a take over by someone who recognizes the potential increased profit from replacing the manager with a better monitor.

b.  basing the manager's pay in part on the stock value of the company.

c.  having the managerial duties rotate among the employees so that they all have a stake in efficient monitoring.

19.  a.  Evaluate.  The capitalist firm is a production system that exploits the working class.  This is evidenced by the general unhappiness of the workers with their bosses.

b.  Explain why even though the individual workers may be dissatisfied with a tough boss, as a group the workers can actually be better off because of that toughness.

20.  Evaluate the argument put forward in a Newsweek column, that the government could lower our doctor bills by paying the entire education costs of physicians, thus making it unnecessary for physicians to recover the costs of their education (plus interest) in their fees.

21.  A frost destroys 50% of the crop.

a.  farmers specializing in this crop will have reduced incomes.

b.  farmers' incomes will decline from their immediate post freeze level in the future.

c.  b. will be true if the crop cannot be stored but not generally true.

22.  In a market of price takers:

a.  the marginal cost of each seller is the same.

b.  sellers all have the same cost and profit.

c.  marginal cost will equal price.

d.  marginal cost will equal marginal revenue.

23.  "We regret that an increase in our costs has necessitated that we increase our prices."  This is a common statement made by sellers raising their prices.  Do cost increases necessitate or allow sellers to increase their prices?  Use an example of a grocery store to illustrate whether or when the statement makes economic sense.

24.  "The steel industry must be protected from cheap foreign imports.  If steel does not receive protection, foreign imports will cause lower prices here, driving American producers out of business, thus reducing supply and raising prices to American consumers."  Evaluate.

25.  It is often claimed that business firms continue to use obsolete equipment rather than new efficient equipment because they have a lot of money tied up in the old.  Evaluate.  Is it inefficient to continue flying jet fueling guzzling 727s when efficient 767s are available?

26.  During a national emergency, plastics were in shortage.  All toy manufacturers were allocated 85% of the amount of plastics used in the previous year.

a.  the price of toys should rise.

b.  if the demand for toys is inelastic, toy makers should benefit.

c.  toy manufacturers will likely sell plastic.

27.  Tobacco production laws give the right to grow tobacco to specific acres of land.  In this way, output of tobacco is limited while the price is whatever clears the market.  The law limits acreage such that the price is higher than would obtain absent the law.

a.  a person who buys an acre of "tobacco land" is expected to earn a return above the competitive level.

b.  if the right to grow tobacco were transferable to any acre, the price of tobacco land should rise.

c.  cigarette companies, who do not own tobacco land, should oppose removal of the tobacco production law.

28.  In the past, the main purpose of taxes on alcoholic beverages was to raise revenue for the government.  In recent years the purpose has shifted towards controlling the health and safety consequences of alcohol abuse.  In response, the producers of alcoholic beverages propose that consumers, rather than producers, pay the tax.  This proposal

a.  would not effect alcohol consumption.

b.  would only effect alcohol consumption if the demand for alcohol were relatively elastic.

29.  An increased demand for office space in Seattle will tend to

a.  increase the cost of providing low income housing.

b.  have no effect since the supply of land is completely inelastic.

c.  have an indeterminate effect since we don't know the elasticity of demand for residential space.

30.  Suppose a frost destroys 50% of South American coffee crops.  As a result the price of coffee rises.   

a.  Both consumers are farmers will be worse off.

b.  Farmers revenue will tend to fall over time after the initial price change.

31.  "The steel industry must be protected from cheap foreign imports.  If steel does not receive protection, foreign imports will drive American producers out of business, thus reducing the number of jobs available to Americans."  Evaluate.

32.  A small town has three local groceries.  Each store is identical except that Joe's Store has two more checkstands than the others.

a.  Would you expect to save time by shopping at Joe's?

b.  Would you expect to save money by shopping at Joe's?

c.  Would you expect the average purchase amount per customer to be larger at Joe's?

d.  Would you expect Joe to have more customers in a typical day?

e.  Would you expect Joe to have richer customers?

33.  Profit can be realized:

a.  by putting resources to new uses with higher value than before known.

b.  without some else having to have less wealth.

c.  by reducing the supply of a good to society.

34.  A per unit tax will be borne more by consumers

a.  the greater the elasticity of demand.

b.  the longer consumers have to adjust to the tax.

c.  the more elastic the supply of the good.

d.  the longer suppliers have to adjust to the tax.

35.  Evaluate.  A tax on land does not cause any economic inefficiency since land is fixed in supply.  (Hint - use a graph)

36.  Evaluate.  The revenue raised by the Clinton administration's proposed excise tax on cigarettes should be greatest shortly after the tax is imposed and then fall over time. (Hint - use a graph)

37.  The following appeared in an advertisement in the Woodinville Weekly recently:   "Those of us in the video movie rental business have identified a very serious problem...  The number of movies you the viewer have been renting per month continues to drop...  Since the movies rent fewer times per month, stores' revenues drop.  When revenues drop, the store owner decides (mistakenly) to lower prices in an effort to attract more renters to his store.  All other stores in the area must then also lower price.  Net result?  Still lower revenues.  Now what?  Either raise prices .... or go out of business.  You sure as dickens do not want the stores to go out of business...   So the only choice is to raise prices.   It would be my suggestion for you, the renter to tell the store owner where you rent movies to either get his price up to around $4 or you will no longer rent movies there.  We at TeleVideo have increased our prices to the point where we can pay our bills and stay in business.  We hope you will agree we must do this and will continue to rent from us."

Critically comment on the advertisement.  Should consumers concern themselves with whether stores are charging enough to stay in business?  When does competition lead to prices below costs?  How does the competitive economy rectify this problem?

38.  Evaluate - if a fifty cent tax per gallon is imposed on gasoline in Washington to finance health care reform, the revenue raised by the tax be will greatest in the first month and then fall over time. (Hint - use a graph)

39.  Because of the problems caused to the Salmon runs due to the dams on the Snake and the Columbia rivers, Congress decides that the spill ways must stay open all winter and spring.  This will cut back the hydroelectric output in the Pacific Northwest by over half.  Analyze the impact in the market for cord wood.  Carefully explain the expected effect on both the price and on the quantity burned.  Consider also the changes over time in both the price and the quantity burned as the Second Law of Demand takes effect and the Supply Parameter - the response period - takes affect (provide intuitive examples of these "response" effects.)  (A graph or two sure helps.)

40.   Many politicians advocate "energy independence" for the United States, that is, complete reliance on domestic energy supplies.

    a.  Does the existence of imports indicate energy "dependence?"

    b.  At various times, the government has imposed restrictions on oil imports, how will this impact the "conservation" of domestic stocks?

    c.  Since the 1930s, the government has published statistics indicating the number of years of domestic oil reserves available for consumption at the current consumption rate.  Even though consumption has steadily increased, the years of domestic reserves have remained about constant at 25 years usage since the 1930s.  Using your knowledge about the law of supply, provide an economic explanation for this.

41.  Here are the first three sentences from a booklet on "The Arithmetic of Interest Rates" - "Everything has a price and money is no exception. Its price - the interest rate - is determined in the marketplace where money is borrowed and lent."

 a.  Is it correct to speak of interest as the price of money?

 b.  If the interest rate goes up, what is the good whose price  has gone up?

 c.  If we increase the supply of money, do you expect its price  to fall? (What is the "price" of money?) What about the interest  rate?

42.  A young man is choosing between three professions.  He could be a professional baseball player with high income as a young man but low income when older as a minor league coach.  He could graduate from college and be a teacher with steady income over the years.  Finally, he could go to graduate school, getting an MBA and have steadily rising income after graduation.  He is interested in choosing that profession which maximizes his wealth.  The total sum of the income is highest as an MBA, second as a baseball player and lowest as a teacher.  Discuss which is the preferred occupation and how the ranking of the alternatives change as the interest rate rises?

43.  The table shows the value of a single Christmas tree at alternative ages:

   year       1     2     3     4     5     6       7      8      9

  Value($)  0     0     1     5     8    10    11    12    11

The interest rate is 10 percent. (T/F explain)

a.  The owner should harvest in year 7.

b.  A decrease in the interest rate could induce a later harvest.

c.  If the site on which the tree grew became more valuable, the owner should harvest sometime between year 3 and year 6.

d.  If the trees were not owned they would be harvested in year 8.

44.  Premium scotch requires aging ten years or more and it continues to improve for decades.  Whiskey however is ready after only four years and its quality then remains stable.   How would you expect an decrease in the interest rate to change the absolute and relative prices of

a.  1992 vintage scotch and whiskey.

b.  A mature scotch (1980) as compared to a mature whiskey (1988).

45.  The table shows the value of a bottle of white wine to the supplier at alternative points in time:

    Year     1     2      3      4       5      6      7      8

Value($)   5    10    15    18    20    21    22    22

The relevant interest rate is 5 percent.  (T/F explain)

a.  The owner should sell in year 5.

b.  A increase in the interest rate would induce a later harvest.

c.  If the site in which the wine were stored became more valuable, the owner should sell before year 5.

46.  The Washington State Lottery has a ONE MILLION DOLLAR LOTTERY in which they pay the winner $50,000 each year for twenty years.  Explain why the State's description is false and how the extent of the falsity increases with an increase in the interest rate.

47.  Consider how an increase in the interest rate will affect the values of:

a.  1995 cars versus 1985 cars.

b.  A forty year old Port (liqueur) that is its peak quality and will remain at this quality for another 10 years..

c.  The value of a share of stock in Lumber Company,  a company that has a substantial amount of lumber in inventory and also has a substantial amount of half grown trees.

48.  Evaluate the following criticism of middlemen.  "Their meer handling of Goods one to another, no more increases the wealth in the Province than persons at a fire increase the Water in a Pail by passing it through twenty or forty hands."

49.  Evaluate the economic plausibility of the often heard claim.  "Now you have a friend in the diamond business.  We are a direct diamond importer.  We pass on to you savings of eliminating the middleman."

50.  Peddlers and merchants are middlemen.  Throughout history peddlers and middlemen have been disdained as economic parasites who live off others because they create nothing of value.  Evaluate each of the following:

a.  They cannot be "parasites" because they can obtain no more for arranging a trade than the difference in the expected values of the goods of the traders.

b.  They cannot be "parasites" if there are legal controls (coercion) ensuring the traders that middlemen disclose known defects.

c.  They will not be "parasites" if there is a sufficient rent from future trades with satisfied traders which more than offsets the immediate gain from deception.

51.  "There is no better time to buy diamonds than now.  The political changes in South Africa will undoubtedly raise the wages of diamond mine workers driving up costs.  You can expect very significant price increases in the near future.  Come into the Shane Company now and save."  Evaluate.

52.  In 1980, Johnny considered building a high rise apartment in Bellevue, but decided the project was too expensive given the few people and the high price of land in Bellevue.  Ten years later she went ahead with the project at a land cost that had tripled.  The project was only marginally profitable.  She says she would have made substantially more profit on the apartment project if she had purchased the land in 1980 to set aside for the project.  Discuss her economic reasoning.

53.  A major speculator in the coffee market predicts that recent weather problems in South America will cause the 1995 crop to fail.  


a.  Explain how your behavior is likely to be impacted by the speculator.


b.  Are you better or worse off as a result of the speculator's knowledge?

              c.  You hear the speculator being interviewed on KIRO radio about the coffee crop.  Should you buy up coffee because you now know about the pending crop failure?

54.  I own stock in Edisto Resources.  They own the right to extract and sell natural gas on many developed sites.  If the interest rate is expected to rise as Clinton attempts to stimulate the economy, what should I expect to happen to the 

value of my stock?

55.  The price of a share of stock comes the closest to reflecting (T/F explain)

    a.  the cost of replicating the firm's assets.

    b.  the present value of expected net benefits from ownership of the share of stock.

56.  The stock of Boss Corp currently sells for $50 per share.  The company makes Boss software under the close supervision of Mr. Boss.  Mr. Boss unexpectedly decided today to retire in two years.  Also today new federal policy was announced that will lead to a steadily increasing interest rate over the next two years.  Discuss how you expect the share price of Boss stock to move over the next two years.

57.  Columbia Futures has been advertising on Seattle radio that "You should take advantage of the coming summer surge in unleaded gasoline prices" by calling them for their brochure on the unleaded gasoline futures market.  Explain what a futures market is and why you should not expect to make unusual profit by investing in gasoline summer futures even if they are correct about the summer price surge.

58.  Ernst Hardware buys miscellaneous screws, nuts and bolts at wholesale from Tacoma Screw through its central warehouse system.  It then distributes these items to its retail stores where they are sold to the home handyman consumer.  


a.  Do you expect Tacoma Screw to be a price taker in selling to Ernst?


b.  Do you expect Ernst to be a price taker in selling the items to you and me?  Carefully explain the relevant factors and any differences in a. & b.
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